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Do Now: Describe how the graph of s(x)=- (x 6)% + 8 is related to the graph of f(x)= x?

reflected over Xx—axis, Ciaht ¢ < up B

AIM: TRANSFORMATIONS (DAY 3) A
1. Given f(x):x/;

(a) Sketch the function.

(b) Identify the type of function: S G}UO_{Q_ m'i‘
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2. Compare the graph of each function with the graph of f(x)= Ix . \L
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DeScrlbe the trans{ormation: Describe the transformation
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3. Compare the graph of each function with the graph of f(x)= |x| ;

a)mﬂ——hl

/

%(x\

e
- K
W

Describe the transformation:
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Describe the transformation:
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" 4. Describe how the graph of each function is related to the graph of the parent function f (x)=x2.
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o) clx)= 3(x—11)2 +3
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e) g(x)=f(x)-7
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5. Given the parent function f(x)=x>.

a) Sketch the function g(x)=-x>

b) Describe the transformation.
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6. Describe how the graph of each function is related to the graph of the parent function f(x) = |x| .

N g(x)=—|x+9|—2
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c. jlx)=-75|x+6|-3.5
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